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Let ¢ be the circle@+ y? +(®+ 6y +9 = 0. The poifit (—1,-2))s
mside C but not the centre of C;

(B) outside C;
(C)onc:
(D) the centre of C.
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ree vertices of a triangle are A4, 33 B(1, 71 and C(7, k). Value(s) of k for which centroid,
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A building with ten storeys, each storey of height 3 metres, stands on one side of a wide
street. From a point on the other side of the street directly opposite to the building, it is
observed that the three uppermost storeys together subtend an angle equal to that
subtended by the two lowest storeys. The width of the street is

(A) 6v/35 metres;
(B) 64/70 metres;
(C) 6 metres;

(D) 6v/3 metres.



Two circles touch each other at P. The two common tangents to the circles, none of which
pass through P meet at E. They touch the larger circle at C and D The larger circle has
radius 3 units and C'E has length 4 units. Then the radius of the smaller circle is

Atriangle ABC has a fixed base BC'. If AB : AC' =1: 2, then the locus of the vertex A is

(A) a circle whose centre is the midpoint of BC;

(B) a circle whose centre is on the line BC but not the midpoint of BC;
(C) a straight line;

(D) none of the above.



Let ABC be aright angled triangle with AB > BC > C' A. Construct three equilateral
triangles BCP,CQA and ARB, so that A and P are on opposite sides of BC' : B and @ are
on opposite sides of C'A; C' and R are on opposite sides of AB. Then

(A) CR> AP > BQ

(B) CR < AP < BQ

(C)CR= AP =BQ

(D) CR? = AP? + BQ2.



